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Abstract

In this report I shortly write down calculations I have done during my summer
student program at DESY. Main purpose is calculate pion matrix element with two
vector and axial vector currents at lowest order using chiral perturbation theory.
These matrix elements are needed when one study multiparton interactions. We
start with derivation of Feynman rules for vector and axial vector currents and
then use them for determining of matrix element.
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1 Introduction

When one studies hadron-hadron collisions, one usually uses parton model to describe
situation. Collisions where one parton from both hadrons scatters, single parton scat-
tering, is quite well-known. Methods of determining probability functions to find such
partons in hadron, single parton distribution functions (PDFs), are also known.

Considering hardon-hadron collisions in parton model it has found that one needs
to examine multiparton interactions, where more than one parton from both hadrons
interacts independently [1]. In this case, things are more complicated since one has
to take into account probability to find more than one certain partons in hadron at
the specific transverse distance. Concentrate now on double parton scatterings and the
special case where two interacting partons are quarks and hadron is proton.

Define the double parton distribution function (DPDF) F' for which

F o~ <p’ Oal (07 Z2)Oa2 (ya Zl) |p> )

where operators O,(z,y) = q(y — 32)Taq(y + 32) and « labels the quark polarization
that is o € [377, 2995, 3i07%5]. The DPDF ’tells’ the probability of finding two
quarks in hadron at relative distance y. The cross section of proton-proton collision
is now related to two DPDF's, one for each proton [2|. Problem with these DPDFs is
that matrix elements in it can not be exactly calculated and thus nor the cross section.
The only way is guess the form of matrix elements or approximate them using chiral
perturbation theory as we done in this report. Simplify situation by taking z; = 25 = 0.
In this case matrix element in DPDF can be calculated using chiral perturbation theory
in lattice QCD.

In this report these matrix elements are calculated for pions. We consider two cases
where operators O are vector and axial vector currents. First we take a look to ba-
sics of theory in section 2. Then Feynman rules that are needed are derived in chiral
perturbation theory in section 3. Using them in section 4 pion matrix elements are
calculated.

1.1 Conventions and definitions

For Fourier transformations we use the convention

@) = [ Gz it

ﬂ@z/&mWW@)

and for -function representation

/d4x et = (2m)* 5 (k) .



For derivative with respect to component x* we use shorthand notation

0

Dt

= Oy -

Denote any scalar field as ¢. For initial state fields we use LSZ-reduction formula
o) = [ atye (@ + 200w 0)

where 92 = 9, ,04.
Define the Feynman propagator for scalar field ¢ as

(0] T(¢(x)e(y)) 10) = D(z —y) ,
where T' denotes time ordering. This propagator satisfies equations

(02 +m*)D(z —y) = ((75 +mAD(x —y) = —id*(x —y) .

2 Chiral perturbation theory

Chiral perturbation theory (ChPT) is an effective theory of QCD at low energies. When
chiral symmetry of Lagrangian of lightest quarks is spontaneously broken, Goldstone

bosons are three pions.

Let us discuss about chiral symmetries in QCD and take the low energy limit as it
is done in [3], [4, p.667]. When we ignore all but lightest quarks v and d, the QCD

Lagrangian is

- - 1
L = wilpu — myau + dilpd — mgdd — ZG“”’“GgV .

Since u and d are very light we can take so-called chiral limit m,, my — 0 and fermionic

part of our Lagrangian is
L = wilpu+ dilpd .
Let us define projection operators

1 1
PR:§(1—|—’}/5) and PL:§(1—")/5),



which clearly satisfies properties

Pr=P, , P.=P]
Pil=pPp, , P2=P
Pr+ P =1
PrP; = P Pr=0,

and are indeed projection operators which project field ¢ to its left and right handed
components

¢ =Prq , qr=Prq.

Our Lagrangian can now be written as
L= ﬂRilﬁuR + gRiwdR + ﬁLilﬁuL + CZLindL .

Form doublet @) = (3) of quarks u and d and write Lagrangian £ with it. £ is now

symmetric under unitary transformations

Qr = Ur(2)Q , Qr—Ur(x)Q,

where Ug, U, € SU(2). Since the vacuum expectation value

0]QQ10) = (0| QLQr + QrQr10) #0 ,

the lowest energy states do not obey the same symmetry than Lagrangian. Thus sym-
metry is spontaneously broken and by Goldstone’s theorem there must be three massless
bosons corresponding this symmetry breaking. We can do the interpretation that these
bosons are three light mesons, pions, which form the isospin triplet

7= (nt, 7%, 1) .

By change of basis they can be written

nt = \%(Wl + im?)
7 =xd.

Since u and d quarks are not massless, this theory describes nature only approximatively.
Indeed ChPT is a perturbation theory and perturbations are done in masses of quarks,
thus in masses of pions, and at low energies.

2.1 Operators in ChPT

Next we find out how to expand operators like in section 1 in ChPT. Ideas in this section
are from [5] and operators and quantities defined in this section are special cases of those



defined in [5].
Define the isovector operator

a 1 e a
0, = DT
where fields are taken in the same space time coordinate. This operator we would like
to expand.

Take the Lagrangian of pions in ChPT

L2 = }lFQ Te(D,UD'UY + x'U + xU") |
where U = exp(it®n®/F) and F' is a pion decay constant, as a starting point. Here
covariant derivative D, and external field x can be chosen such that D,U = 9,U and
x = M?I, where M is pion mass and I is unit matrix. Matrix elements with operators O,
could be calculated in ChPT introducing corresponding external sources in Lagrangian,
but we do it in different.
For that define left- and right-handed operators

1 —
(03), = St 2% Gi

1+
(OS)M = 54 2%%’ .

With these definitions

1
O = 5 Tr[T“(Oﬁ + Of)] :

m
Operators O} and O} indeed are left- and right-handed, since they transform as
OL 5 Vv, 0LV and OfF — VROV

under chiral rotations of pion field in which U — V5U VLT. We now define two quantities
L, and R, such that

1 abc 2
L,=U'0,U =ir" (Fa,m“ + 6F2 more + ﬁﬂb(ﬂa 0 — w0, ) + O(7r3)8u7r)
=T1L}
i - _a -1 a e ba, ¢ 2 b _a b b a 3
R,=U"0,U =ir F@m + F27T87T ~ 3 (0’ — 70, m*) + O(7°)0,m

. a pa
=T'R, ,

where we expanded U as powers of m. An important remark is that these quantities
transform similarly as operators Oﬁ and (95 and thus they might have some connection



to those operators. Indeed it turns out after few steps discussed in [5] that at lowest
order

(’)ﬁ =cL, and (95 =R, ,
where ¢; is constant, which need to be determined somehow.

Hence we have expansion for operators Oﬁ and (’)f as powers of pion fields 7 via

quantities L, and R, and thus for every operator we can form using them similarly than
O,
I

3 Feynman rules

In this section we derive Feynman rules for three tree-level graph of pions using the
results derived in section 2.1 for operators in chiral perturbation theory. We still need
to know how to deal with derivatives of fields in vacuum expectation values and this is
discussed in next section.

3.1 Result for derivative of field

Let us consider the problem concerning derivatives of fields in vacuum expectation values.
It turns out that derivatives can be replaced by momentum of the initial (or final) state
pion which is contracted with differentiated field.

Consider the expectation value

(0] (O,um® () | 7" (p)) =i / dty e7"V(0; + M?) 0] T[(Du, e ()7 ()] 0)
:Z/d4y d4_kd4z e—ip~y—ik~x+ik-z(8§+M2)

)
X (0] T((0.,,m" ()7 ()] 0) -

Here 7%(x) denotes the pion field and 7%(p) the particle. Since

(0 T((0:.,u7"(2))7" ()] |0) = lim % (O T[(n" (2 + he) — m*(2))m ()] |0)

h—0

= lim %[D(z + he® —y) — D(z — y)]6%

h—0

= az,uD(Z - y)dab s

where e is unit vector in direction of i, we get

. d4k —ip-y—ik-x+ik-z
O @ryn” () [7°0) =i [ty Gte e s )

x 0, ,D(z — y)§™ .



Integrating by parts gives
/d4z e*29, ,D(z —y) = — / d*y (0, ,e**)D(z — y)
= —iku/d4z e**D(z — 1) .

In first step we neglect the boundary term since propagator vanishes at infinities. Using
this result our vacuum expectation value is

4

(O] (Do (2)) |7(p)) =i(—ik,) / aty T

d4Z e—ipy—ikw-‘rikz(@; + MQ)

(2m)*
X D(Z _ y)dab
4 d4k‘ 4 —ipy—ik-z+ik-z N b
=k, [ d7y (27?)4(1 ze (—i)64(z — y)d
4
— Zk# / d4y %ei(pk)'yik-x(sab
m

4
=—ik dk e~k (2m) 5 (p — k)5
") @)

= —ip,e PTEY (1)

and indeed we have a component of initial state momentum in final result.

3.2 Pion propagator

Our pion field is a three component vector which components are scalar fields. Thus for
pions as for all scalar fields the propagator in momentum space is [4, p.31]

7
p2 — M2 4 je

(2)
3.3 Vector current

Consider the isotriplet vector current

a 1* a
V)= ST -

Using the definitions from section 2.1 we notice that

1
Vi =05 = S T[r(O) + O]



and thus
a __ C1 a a
Vu - §<Lu + Ru>
Z'Cleabc

=—F ™(07°) + O(7*)0,m

At tree-level the connected graph with vector current is
VC
m® @ ¢
> —
p 4

and the corresponding matrix element is (0| f/j(k) |7(p/)7*(p)). Using the result
derived in section 3.1

(O 7506 |17 0)) =0 [ e 0] ) @) 20" 0)
=2 w;ide /d4zv d4y d*y/ e ZP"y’e—ip'y(aj + Mz)(aj + M2)
X (0] T (7(2) (Do () ) (3 )" (7)) 10) -
Since
(O] T (2) (B, ()) 7 (4 )7 ()] 10) =D(y' — )8z Dy — )66
+ (02 Dy — 2))D(y — 2)5°6%
we get
~ iCl€Cde -
O Vek) |7 ()= (p)) = F2 / Az e WHPTR T [ip, 5050 — ipf 576"
Fg L) 5 (p+ P — k) e + ple™
= 7% L @m) et (p — pl)8 (p + ' — k)
=i(27) e (p, — 1)) (0 + 1 — k) , (3)

where we used ¢; = iF? (see next section).

3.4 Axial vector current

For axial vector current

a 1 —~ a
Al = 25T



results in section 2.1 give

and
w C
AM = El(RN - LN)
Cc11 2c11
= — {%wuﬂa) + 3_Fl'37rb(77a(au7rb) - Wb(a;ﬂra)) + 0(774)8M7T
= A}, +AS L+ O(n") O, .

The only connected graph at lowest order that can be formed using the first term is

and using the second term is

Matrix element corresponding graph of fist term is

(01 A3, (k) [7*(p)) = /d4ﬂf e (0] Ap(2) [7(p))

iC k-x a
iCl

— _F d4ZE ei(kfp)-:v<_l-p#)6ab 7

where the result from section 3.1 is used. Since [4, p.670]
(0] A (@) [n*(p)) = —ip Fe™ "5

we get



Plugging this in, Feynman rule for the first term is

(0] AY (k) |7 (p)) = —iF(2m)*6“p,6* (p — k) . (4)
For the second term
(0] A3 , (k) |7 (p)m ‘(")) = /d49€6”” (0] A3 () |7 ()" (p" )= (p"))
:_32}:51 /d4xd4yd4y’d4 " zk:): ip-y—ip’ -y’ zp"y”(a +M2)<8 —|—M )(ayu —|—M2>

x (0] (@) (7(2) (9 (2)) — 7°(2) (9 (2))) 7" (y)7" (/)7 (y") [0) -

The vacuum expectation value looks quite complicated in this case, but it is straightfor-
ward to do, so we go straight to the result which is

(0 A5, (k) [ (p)7" ()7 (p"))
_ 3_;; o2 / b et gadgbe () 4pty 6t (p, + plt)
+ 1670 (py + p),) — 200°16"p, — 2i6°'6°p], — 2i5°5°"p)]
= 0 (~2py + 1, ) 08 (g — 20, ) + 07 (e + 7], — 2
x (2m)*04(~k +p+p + 1) )

Notice that when deriving these Feynman rules we have chosen convention where all
external momentums are flowing in.

4 Matrix element in ChPT

Our purpose is to calculate matrix elements for pions where we act on pion state by two
vector current or axial vector current operators. Let us start with vector currents.

4.1 Matrix element with vector currents

The matrix element we would like to find out is

(m ()| V() V() [7"(p)) -

Here xqg = 0 as we have in lattice. At lowest order the corresponding Feynman graphs
are

Ve Vd Ve
LRR w L@=R
p p



Using Feynman rule (3) for vector current and (2) for propagator we get

OOV [ 0) = [ G g™ @ VRV [7'0)

- / % (C217Tq)4eiq.x [[i(27)46aec(pu +p;¢)54(pl —p— k)

' ; e / /
X i a2 e e+ )0 b~ )

+ [i(27r).46“d(pu +p,)8* (0 —p—q)]

g, £ )~ )

g abgcd  gad sbe 4 —iq-x (2p,u_qu>(2pl/_qu)
i(5eb5ed — §odg )/d ge [<p_q>2_M2+ie

(2p, + q.) (2py + qu)]
(p+q)? — M? +ie

Do the change of variable such that for the first term in integral p — ¢ = —k and for the
second term p 4+ g = k . Besides use the fact that

—ikx __ —ik-x
ke =10, € .

After these steps the matrix element is of the form

(m(p)| VE(0)V! () |7 (p)) = i(8°°0°" — 5°16%) | e (2py — i0s,s) (2py — 1Du)

6—ik~z

+ eipw(qu + laa;’u)(pr + Za$7y):| /d4]€ m .

There still is one integral to be done. Because the result is needed also in the case of
axial vector currents, we do that separately.

4.1.1 Integral

The goal of this section is to do integral

/d4k 6—ik~a:
k2 — M? +4e

The first thing to take into account is that this integral has poles when kg = +(M — i€).
We use the common trick and turn the ky-axis imaginary, that is do the Wick rotation
ko — iko, under which d*k — id*kp and k? — —k2. Since we have xy = 0, after Wick

10



rotation ¢ - * — —qg - rE and for whole integral

A efik-:p 4 e’ikE'fL“E
&k ————-r— = —i | kg 5—— .
/ k2 — M2+ e Z/ P2+ M2
Use the four dimensional spherical coordinate system

xg =rcos(y)

x1 = rsin(y) cos(0)

xo = rsin(y)sin(f) cos(¢)
()

xg = rsin(y)sin(f)sin(¢) ,

where 1,0 € [0,7] and ¢ € [0,27]. The volume element in these coordinates is dV =
r3sin®(¢) sin(f)dr dip df d¢. Choosing coordinate system such that zg||zo one get

., eksTE , Y _ ¢iklz] cos(x)
_Z/d k?EW = —Z/dkjd@/) d@dgbk Sin (77/}) Slll(g)m

) ~ k3 " 102 ik|x| cos(y

= —471'2\/0 dkm\/o dw sin (¢)€ || cos(v)

——4m'/°°d/<; K7, (k|z|)
B o k24 MZE|z]) ’

where J is Bessel function of first kind. By change of variables such that k|z| = ¢ integral
is

/ SN TR / (PRl VERAC)

4Am%q
= Mz|Ky(M]z|)

af?

where K is modified Bessel function of second kind. Hence

e~ A2 M
Ak T (M) .
/ K2 — M2 1 e o (Mzl)

4.1.2 Back to the pion matrix element

Using the result derived in the previous section the pion matrix element with vector
currents is

(m(p)| V() () |7 (p)) = 4m* M (676! — 5°6") | e~ (2p,, — 10,) (20 — iDs)

2y +i00,) (2 i) | =

11



We are left with derivatives with respect to only z, or z, and with respect to both of
them. First derivative gives

Ky (M|z|) T, x, M
[ Ki(M — = (Ko(M Ko(M
0, = TG (M) - S (KoM ) + KM a])

x, M

= — Ky (M|z|) (7)
2]

where we used relation
2n
Kni(y) = Kna(y) + ?Kn(y) (8)

for Bessel functions. Taking derivative of (7) with respect to x, and using relation (8)
we have
Ki(M —guM
0.0, KMl __ g,

] |z[?

2
x,x, M

|z ]?

Ky (M]z]) + K3(M|zl) . (9)

Plugging in these derivatives does not make matrix elements looking simpler, so we leave
derivatives on our final results.

4.2 Matrix element with axial vector currents

For axial vector current the matrix element we would like to find out is
(m*(p)] AL (0)AL(2) |7°(p))

again with zy = 0, which corresponds to graphs

A¢ Ad
v} and v}
b a b a
T T T T
— — — —
p Ad p p Ac p

at lowest order. Using Feynman rules (4) and (5) for axial vector current derived in

12



section 3.4 and (2) for the propagator the matrix element is

(7 ()| A%(0) A% () [ (p)) = / a d e (1 )] A5 AL ) [ )

/ T L e’iw[ [5“65bd( 2p, = Py, — o) + 070" (py + 20, — po)
oy @y L3F e T

1
— M?2 +ie

+ 646" (p, — pl, + 2p,)|(27)%6 (p — ' — p — q)( ok
[-iF(SCe(27T)454(/lC —)p,,]
3F [5a66bc( 2pu - p; - pu) + 5ab566(pu + 2]9; - pu)

/ / Z
+0°6" (py — 1), + 2pu)| (27)* (0 — ' —p— k) (

p/)Z _ M2 + 1€

< [P (275 (g — '),

2 _ q
d4 iq-x 2 V(Sabécd 3 e 6&65bd —(3 5 . 6ad6bc M
=3 qge {[q + (3py — qv) (3py + @) }qQ—i—MQ—l—ie
ab scd ac sbd ad Sbe qv

Using again the fact that

—ik-x —ik-x

ke =10, €

and integral done in section 4.1.1 we end up with
(7" (p)| AL (0) Ay (@) |7* ()

2
M
_ 8 { [Qiamﬂy(sabécd (3py . 63@ V)(Sac5bd (3]),, + Z'ax7l,)(5ad5bc] i@xyu
Ky (M])

]

+ [200,,6°06% + (3p,, — 105,)8°°8" — (3p, + 105,,) 56" 0, ] }

5 Summary

Let us sum up this report by writing matrix elements for pions in basis {7, 7=, 7%} in
special case when ¢ = d = 3.
For vector currents

< ‘ V3 ‘ﬂ- >> = 4r’M [eiip.z@pu - iaﬂ%u)@pu - iazw)
Ki(M]z|)

+ €% (2p,, + 10y.,) (2D + 10s,)) ]

Y

13



<7T_(p)‘ Vi(O)Vf(x) ‘7?_ (p)> = Ar* M [e_ip'”(Qp“ — 103.,)(2py, — 104,)
Ky (M]z])

+ P2, + i) (2py + z'ax,,,)] =

and

(x(0)| VOV (@) |x°(0)) =0

For axial vector currents

(7 ()] A(0) A2 () |+ () = —327;2%%#@%”% |
(- )] 420420 ) = -2 M, 0, D

and

(2(p)| AL(0)A2(@) |7 (9)) = 0.
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